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	Learning Objectives

1.
Determine the basis period for the year of assessment of a continuing business.

2.
Determine the basis period for the year of commencement of a business.

3.
Determine the basis period for the year of cessation of a business.

4.
Explain how provisional profits tax is computed.
5.
Explain the procedures for claiming holding-over the payment of provisional profits tax.

6.
Explain the treatment of losses for different types of business.
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	Section
	Description

	s. 18B(1)
	If the accounts are made up to 31 March, the basis period is the year of assessment.

	s. 18B(2)
	The normal basis period for computing assessable profits for a year of assessment is the actual profits of the accounting period ending in the year of assessment.

	s. 18C(1)(a)
	If the first accounting date ends in the year of commencement, the basis period is the period from the date of commencement to the first accounting date.

	s. 18C(2)
	Where the first accounting date ends in the following year of assessment and the first accounting period is not more than 12 months, then:

(a)
there shall be no assessment for the year of commencement;

(b)
the basis period for the following year of assessment is from the date of commencement to the first accounting date.

	s. 18D(1)
	Cessation for the business commenced on or after 1 April 1974.

	s. 18D(2)
	Cessation for the business commenced before 1 April 1974.

	s. 18D(2A)
	Anti-avoidance measure => Only an additional amount, being the difference between “relevant profits” and transitional amount” is added to the assessable profits

	s. 18E(1)
	Situations of change in accounting date

	s. 18E(2)(b)
	New business => CIR is empowered to make an assessment on a basis period of more than 12 months.

	s. 18E(3)
	In making an apportionment of profits, it is lawful to make on a daily or monthly basis.

	s. 19D(1)
	Loss is computed in a similar manner and for a similar basis period as profit.

	s. 19C(6)
	No loss can be relieved more than once.

	s. 19CA and s. 19CB
	Related to losses cross set-off

	s. 63L
	The assessor is empowered to issue a provisional tax return to any person for the purpose of collecting information and issuing a demand for provisional profits.

	s. 63J
	Hold-over of payment or provisional profits tax.


	Taxpayer
	Subject Matter

	Yick Fung Estates Ltd v CIR (1999) HKLRD 381)
	CIR can assess profits of more than 12 months in the year of change or the preceding year.

	Yau L. M. Agnes v CIR HCIA 31/2004
	Loss is not subject to the six-year time limit of s. 60.


1.
Basis Periods (評稅基期)
1.1
Normal basis period
1.1.1
The term basis period is used to refer to the period covered by an assessment.

1.1.2
The normal basis period for computing assessable profits for a year of assessment is the actual profits of the accounting period ending in the year of assessment (s 18B(2)).

1.1.3
Where the accounts are made up to 31 March, the basis period is the year of assessment (s 18B(1)).

	Example 1

	A Ltd has been carrying on business for a number of years and prepares its accounts up to 31 March each year. Its basis period for the year of assessment 2015/16 is from 1 April 2015 to 31 March 2016 (s. 18B(1)).

If A Ltd prepares its accounts up to 31 December each year, its basis period for the year of assessment 2015/16 is from 1 January 2015 to 31 December 2015 (s. 18B(2)).


1.2
Commencement

1.2.1
The basis period of the year of assessment in which a business commences depends on whether the first accounting date ends in the year of commencement or the following year of assessment.

1.2.2
If the first accounting date ends in the year of commencement, the basis period is the period from the date of commencement to the first accounting date (s 18C(1)(a)).

	Example 2

	B Ltd commenced business on 1 May 2015 and its first accounting date ended on 31 January 2016. Its basis period for the year of assessment 2015/16 is from 1 May 2015 to 31 January 2016. In this case, both the commencement date and first accounting date fell within the year of assessment 2015/16.


1.2.3
Where the first accounting date ends in the following year of assessment and the first accounting period is not more than 12 months, then:

(a)
there shall be no assessment for the year of commencement;

(b)
the basis period for the following year of assessment is from the date of commencement to the first accounting date (s 18C(2)).

	Example 3

	C Ltd commenced business on 1 January 2015 and its first accounting date was 31 December 2015. There would be no assessment for the year of assessment 2014/15. The basis period for the year of assessment 2015/16 is from 1 January 2015 to 31 December 2015.


1.2.4
Where the first accounting date ends in the following year of assessment and the first accounting period is more than 12 months, the assessable profits shall be computed for the first year of assessment on such basis as the CIR thinks fit. Normally, for the year of commencement, the IRD will choose the period from the date of commencement to the corresponding accounting date in the year of assessment.

	Example 4

	D Ltd commenced business on 1 January 2015 and its first accounting date was 31 March 2016. Its adjusted assessable profit for the 15 months from 1 January 2015 to 31 March 2016 was $15,000. As the first accounting period was over 12 months, it is likely that its first year of assessment is 2014/15 and the corresponding basis period is from 1 January 2015 to 31 March 2015, while its second year of assessment is 2015/16 and the corresponding basis period is from 1 April 2015 to 31 March 2016.

D Ltd

Year of assessment 2014/15
Basis period: 1 January 2015 to 31 March 2015
Assessable profit $15,000 x 
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 = $3,000

Year of assessment 2015/16
Basis period: 1 April 2015 to 31 March 2016
Assessable profit $15,000 x 
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 = $12,000


	Question 1

	State the basis periods for the first two years of assessment in the following situations:

1.
Mr Lee starts to trade on 1 May 2015. He chooses 30 November as his accounting date and his first accounts end on 30 November 2015.

2.
Mr Po starts to trade on 1 February 2015. He chooses 31 July as his accounting date and his first accounts end on 31 July 2015.

3.
Mr Ping starts to trade on 1 August 2014. He chooses 31 January as his accounting date. His first accounts cover a period of 18 months ending on 31 January 2016.


	Solution:




1.3
Cessation

1.3.1
The basis period for the year of assessment in which the business ceases depends on whether the business commenced on or after 1 April 1974.

	1.3.2
	Key Points

	
	(a)
For businesses which commenced on or after 1 April 1974 (newly established business), the basis period is the period from the day following the basis period for the preceding year of assessment to the date of cessation (s 18D(1)). (Note: Over 12 months’ profit may be assessed.)

(b)
For businesses which commenced before 1 April 1974 (old established business), there are two sets of rules for determining the last basis period on cessation of business.

(i)
there is no successor to the business; or

(ii)
there is a successor to the business, but the cause of cessation was the death of the proprietor (s 18D(2) proviso).


1.3.3
The determination of basis period and profits for the businesses started before 1 April 1974 is different from those after. This is because there was a change of “preceding year basis” to “actual year basis” in 1974/1975. Moreover, the basis period and profit determination depend on whether the business is succeeded or not. To provide tax relief for certain businesses, a “transitional amount” for the profits commencing on the day following the normal accounting date in 1974/75 to 31 March 1975 may be deducted from the assessable profits for the period from the day following the end of the previous basis period to the date of cessation.

	Example 5 – commenced after 1 April 1974

	E Ltd commenced business on 1 May 1989 and prepared its accounts to 31 December each year. It ceased business on 30 November 2016. Its last year of assessment was 2016/17 and the basis period was from 1 January 2016 to 30 November 2016. Its preceding year of assessment was 2015/16 with the corresponding basis period of 1 January 2015 to 31 December 2015.


	Example 6 – commenced after 1 April 1974

	F Ltd commenced business on 1 January 1994 and prepared its accounts to 31 December each year. It ceased business on 31 March 2016. Its last year of assessment was 2015/16 and the basis period was 15 months from 1 January 2015 to 31 March 2016. Its preceding year of assessment was 2014/15 with the corresponding basis period of 1 January 2014 to 31 December 2014.


	Example 7 – commenced before 1 April 1974

	G Ltd commenced business on 1 January 1972 and make up its accounts to 31 December each year. It ceased business on 30 November 1978 and had no successor. Its adjusted profit for the period from 1 January 1978 to 30 November 1978 was $121,000. It ceased business during the year of assessment 1978/79 and the corresponding basis period was eight months from 1 April 1978 to 30 November 1978.

G Ltd

Year of assessment 1978/79

Basis period: 1 April 1978 to 30 November 1978 (s 18D(2))

Assessable profit before depreciation allowance
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Accordingly, G Ltd would have a profit dropout of $33,000 (121,000 – 88,000) in the year of assessment 1978/79, the year in which cessation occurred. The $33,000 represents the profit for the period from 1 January 1978 to 31 March 1978 which is not assessable.


1.3.4
If neither condition in 1.3.2(b) above is satisfied, the basis period for the last year of assessment will follow the rules for new businesses.

Businesses commenced before 1 April 1974 and ceased or will cease on or after 1 April 1979

1.3.5
As s. 18D(2) was widely exploited to take advantage of the profit dropout, s 18D(2A) was introduced in 1980 as an anti-avoidance measure, and is applicable to those businesses which ceased on or after 1 April 1979.

1.3.6
The basis period is also the same as for business which ceased before 1 April 1979.

1.3.7
However, the excess of ‘relevant profits’ over the ‘transitional amount’ (過渡期款額) will be added to the adjusted profit for the final year of assessment (s. 18D(2A)).

1.3.8
‘Relevant profits’ means profits for the period from the date following the last accounting date to 31 March of the year of assessment preceding the year of cessation.

1.3.9
‘Transitional amount’ means profits from the date following the normal accounting date in the financial year 1974/75 to 31 March 1975. In case a loss was incurred during this period, the transitional amount will be ‘nil’.

1.3.10
The basis period under s. 18D(2A) is the same as that under s. 18D(2) (para 9). Only an additional amount, being the difference between ‘relevant profits’ and ‘transitional amount’ is added to the assessable profits.

1.3.11
Format of computation of basis period for cessation of business for business commencing before 1 April 1974.

	
	$
	$

	Profit for the basis period
	
	A

	Add: Previous accounting date – 31 March preceding year of cessation
	B
	

	Less: End of accounting date for 1974/75 – 31 March 1975
	C
	

	
	
	D

	Assessable profit
	
	E

	
	
	

	If C>B, D is regarded as ‘Nil’
	
	

	If C is a loss, no deduction is allowed.
	
	


	Example 8

	H Ltd commenced business in 1970 and prepared its accounts to 30 September each year. Its adjusted profits for the following accounting periods are:

Accounting period

Adjusted profits

$

Year ended 30 September 1973
40,000

Year ended 30 September 1974
42,000

Year ended 30 September 1975
48,000

It ceased business on 30 June 2016 and its tax-adjusted profit for the period from 1 October 2015 to 30 June 2016 was $90,000. There was no successor to the business. The assessment for the year of assessment 2016/17 will be based on the basis period of three months from 1 April 2016 to 30 June 2016 (s. 18D(2)).

H Ltd

Year of assessment 2016/17
Basis period: 1 April 2016 to 30 June 2016
$

$

Profit for the basis period

(
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30,000

Add: Relevant profit (s 18D(2A)) for the period from 1 October 2015 to 31 March 2016
(
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60,000

Less: Transitional amount for the period from 1 October 1974 to 31 March 1975

(
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(24,000)
Excess of relevant profit over transitional amount

36,000

Assessable profit before depreciation allowance

66,000




	Question 2

	An old business commenced trading in the 1960 and used to close its annual accounts on 30 September. The assessable profits for the year of assessment 1974/75 and 1975/1976 are as follows:

Year of assessment

Basis period

Assessable profit

$

1974/75

Year ended 30.9.74

$15,000

1975/76

Year ended 30.9.75

$18,000

The company ceased business on 30 June 2015 and the assessable profits from 1 October 2014 to 30 June 2015 is $18,000. There was no successor to the trade.

Required:

Calculate the assessable profits for the year of assessment of 2015/16.


	Solution:



2.
Change of Accounting Date

2.1
Situations of change in accounting date
	2.1.1
	Situations of change in accounting date

	
	The following situations are considered as a change in accounting date:

(a)
failure to make up an account on the corresponding day in the following year of assessment;

(b)
accounts are made to more than one day in the following year of assessment (s. 18E(1)).


2.1.2
When there is a change in accounting date, the CIR is empowered to compute the profits for the year of change and the previous year on such basis as he thinks fits (s. 18E(1)). The CIR will normally choose a basis which will not unduly prejudice either the taxpayer or the revenue.

2.2
New businesses (i.e. businesses which commence on or after 1 April 1974)

2.2.1
In case of a new business, the CIR is empowered to make an assessment on a basis period of more than 12 months (s. 18E(2)(b)).

2.2.2
In making an apportionment of profits, it is lawful to make apportionment on a daily or monthly basis. (s 18E(3)).

	2.2.3
	Key Points

	
	(a)
Assessments must be based on at least 12 months’ account.

(b)
The main consideration is that the total profits assessed should be equal to the profits actually made over the lifetime of the business. That is to say, no profits can be dropped out (放棄). However, profit for certain periods can be doubly assessed in certain cases.

(c)
The Commissioner may limit the basis period to a period of less than 12 months if the change of accounting date was for compelling (強制) reasons. For example, a company joining a group and change its accounting date to conform to that of the group would normally be a compelling reason.


	Example 9

	J Ltd commenced business in 1980 and prepared its accounts to 30 April each year. It changed its accounting date to 31 January 2016. Its adjusted profits are:

Accounting period

Adjusted profits

$

12 months to 30 April 2014
18,000

12 months to 30 April 2015
12,000

9 months to 31 January 2016
3,600

12 months to 31 January 2017
24,000

The year of change is 2015/16. The basis period for the year of assessment 2015/16 will probably be 21 months from 1 May 2014 to 31 January 2016.

J Ltd

Year of assessment 2015/16
Basis period: 1 May 2014 to 31 January 2016
Adjusted profit ($12,000 + $3,600)
$15,600


	Question 3

	L Ltd commenced business in 1985. It prepared its accounts to 30 September each year. It has prepared its accounts to 30 June as of 2015. Its adjusted profits are as follows:

Accounting period

Adjusted profits

$

12 months to 30 September 2013
18,000

12 months to 30 September 2014
24,000

9 months to 30 June 2015
27,000

12 months to 30 June 2016
30,000

Required:

Calculate the assessable profit for the year of assessment 2015/16.


	Solution:




	Question 4

	Global Limited commenced business in Hong Kong in 2001 and prepared its accounts to 31 December each year. As a result of being taken over by an international company, Global Limited changed its accounting date to 30 June 2016. Its adjusted profits (before depreciation allowance) are as follows:

Accounting period

Adjusted profits

$

12 months to 31 December 2015

1,000,000

12 months to 30 December 2016

1,400,000

6 months to 31 December 2017

1,400,000

6 months to 30 June 2016

600,000

12 months to 30 June 2017

1,800,000

Depreciation allowances for the years of assessment 2015/16 to 2017/18 are as follows:

Year of assessment

Amount

$

2015/16

150,000

2016/17

180,000

2017/18

120,000

Required:

Compute the assessable profits of Global Limited for the year of assessment 2015/16, 2016/17 and 2017/18 and state the respective basis periods.
(6 marks)


	Solution:




2.3
Old businesses (i.e. businesses which commence before 1 April 1974)
	2.3.1
	Key Points

	
	(a)
For an old business, all assessments are normally based on exactly a 12-month period. No assessment will be made for a basis period of over or less than 12 months.

(b)
However, if the sole or dominant purpose for changing the accounting date is tax avoidance, the CIR can assess profits of more than 12 months in the year of change or the preceding year (Yick Fung Estates Ltd v CIR (1999) HKLRD 381).

(c)
Profits may be dropped out (gap) or assessed twice (overlap). If a gap or an overlap arises, the IRD’s practice is to choose a gap which is fair to both the taxpayer and the IRD.


	Example 10 – Old business

	N Ltd commenced business in 1960 and prepared its accounts up to 30 June each year until 2013. It changed its accounting date to 31 December 2015. Its adjusted profits are:
Accounting period

Adjusted profits

$

12 months to 30 June 2014

180,000
12 months to 30 June 2015
300,000

6 months to 31 December 2015

210,000

12 months to 31 December 2016

160,000

· The year of change was 2015/16. According to s. 18E(1), the CIR is empowered to compute the profits for the year of assessments 2014/15 and 2015/16 on such basis as he thinks fit.
· If the CIR considers the sole or dominant purpose for changing the accounting date is to obtain a tax benefit, it is likely that $180,000 will be assessed in the year of assessment 2014/15 (basis period: 1 July 2013 to 30 June 2014) and $510,000 in the year of assessment 2015/2016 (basis period: 18 months to 31 December 2015 (Yick Fung Estate Ltd).

· Otherwise, there are three choices available for assessing the profits from 1 July 2013 to 31 December 2015. The total profits in this period of 30 months is $690,000.

· The choices available are as follows:

Choice 1: Bring forward the change to 2014/15 (new, new)
Choice 2: Delay the change to 2016/17 (old, old)

Choice 3: Change in 2015/16 (old, new)

Year of assessment
Choice 1

Choice 2

Choice 3

2014/15 basis period
Profit
12 months to 31.12.2014

$240,000 (W1)
12 months to 30.6.2014

$180,000
12 months to 30.6.2014

$180,000
2015/16 basis period
Profit
12 months to 31.12.2015

$360,000 (W2)
12 months to 30.6.2015

$300,000
12 months to 31.12.2015

$360,000
Profit dropped out:
Period
6 months to 31.12.2013

$90,000
6 months to 31.12.2015

$210,000
6 months to 31.12.2014
$150,000
The CIR can choose one out of the above three options.
W1: 
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	Example 11 – Yick Fung Estate Ltd v CIR (2000) 1 HKLRD 381

	In this case, the taxpayer, a business commenced prior to 1 April 1974, prepared its annual accounts to 30 June. It changed its accounting date to 31 March in 1988/89. The adjusted profits were as follows:

1 July 1986 to 30 June 1987

$146,038,904
1 July 1987 to 30 June 1988
$164,835,439
1 July 1988 to 31 March 1989

$108,327,586

1 April 1989 to 31 March 1990

$149,704,766

· s. 18E does not allow a basis period of over 12 months in the case of a change of accounting date by an old business.
· However, this case was caught by s. 61A for the reason that the change in accounting date was made for the sole or dominant purpose of obtaining a tax benefit. The CIR was entitled to adopt a 21-month basis period irrespective of s. 18E.

· On appeal, the Court of Appeal held that the BoR was correct on both issues.


	Question 5

	Florence Ltd commenced business in 1972 and made up its accounts to 30 June annually. As a result of being taken over by an international corporation. Florence Ltd changed its accounting date to 31 December in 2016. The Commissioner of Inland Revenue accepted that the sole or dominant purpose for change of accounting date was not to obtain a tax benefit. You have been supplied with the following adjusted profits for the last four accounting period:

Accounting period

Adjusted profits

$

12 months to 30 June 2014

950,000

12 months to 30 June 2015

1,200,000

18 months to 31 December 2016

2,520,000

12 months to 31 December 2017

1,320,000

Required:

(a)
What action can be taken by the Commissioner of Inland Revenue when a business changes its accounting date?
(2 marks)

(b)
Compute the respective amounts of adjusted profits for the years of assessment 2014/15 to 2017/18. You are required to show all the alternatives that may be adopted by the Commissioner of Inland Revenue in determining the adjusted profits of Florence Ltd.
(8 marks)

(c)
If the Assistant Commissioner of Inland Revenue considers that the sole or dominant purpose of Florence Ltd in changing of its accounting date is to obtain a tax benefit and section 61A is to be invoked in making the assessment, compute the respective amount of adjusted profits for the years of assessment 2014/15 to 2017/18.



(2 marks)


	Solution:




2.4
Losses involved
2.4.1
Where there are losses involved, the principle is to ensure that the losses available are not given more than once and the losses must be relieved.

	Example 12

	M Ltd commenced business in 1986 and prepared its accounts to 30 June each year. It changed its accounting date to 31 December as of 2016. Its adjusted profits/losses are:

Accounting period

Adjusted profits

$

12 months to 30 June 2015
60,000

12 months to 30 June 2016
80,000

6 months to 31 December 2016
(35,000)

12 months to 31 December 2017
100,000

The year of change was 2016/17. It is likely that the CIR will assess M Ltd as follows:

M Ltd

Year of assessment 2015/16
Basis period: 12 months to 30 June 2015
Adjusted profit before depreciation allowance
$60,000

Year of assessment 2016/17
Basis period: 18 months to 31 December 2016
Adjusted profit before depreciation allowance ($80,000 – $35,000) = $45,000

The loss of $35,000 is completely utilized and no loss is allowed to be carried forward.


3.
Provisional Profits Tax

3.1
Computation of provisional profits tax

3.1.1
The assessor is empowered to issue a provisional tax return (s. 51(1)) to any person for the purpose of collecting information and issuing a demand for provisional profits tax (s. 63L).

3.1.2
In case of a continuing business, the amount of provisional profits for a year of assessment is usually based on the assessable profit (before set-off of loss brought forward) of the preceding year.
	Example 13

	P Ltd has been carrying on business for a number of years and prepares its accounts to 31 December each year. It has an assessable profit of $480,000 for the year of assessment 2014/15. The amount of provisional profits for 2015/16 is likely to be estimated at $480,000.


3.1.3
Any disallowed loss brought forward to the year will be deducted from the estimated amount (s. 63H(1) and (2)).

	Example 14

	Q Ltd commenced business 10 years ago and had losses of $100,000 brought forward to the year of assessment 2014/15. Its assessable profit for the year of assessment 2015/16 was $80,000. The computation of its profit tax liability for the year of assessment 2015/16 (final) and year of assessment 2016/17 (provisional) will be as follows:
2015/16 (Final)

$

$

Assessable profit

80,000

Less: Loss brought forward

(100,000)

Loss carried forward

(20,000)

Net assessable profit

Nil

Profits tax for year of assessment 2015/16
Nil

2016/17 (Provisional)

$

Assessable profit of preceding year

80,000

Less: Loss brought forward

(20,000)

Net provisional profit

60,000

Provisional profits tax for year of assessment 2016/17 ($60,000 × 16.5%)
9,900

Total tax payable
9,900




3.2
Hold-over of payment or provisional profits tax
3.2.1
If a taxpayer considers that the amount of estimated provisional tax is excessive, he can lodge a written claim with the CIR for holding-over the whole or part of the payment of provisional profits tax not later than:

(a)
28 days before the due date for payment of provisional tax; or

(b)
14 days after the date of the notice for payment of provisional tax,

which ever is the later (s. 63J(1)).

3.2.2
The application for holding-over will not be valid unless it contains at least one of the following grounds (s. 63J(1)):
(a)
the assessable profits for the year of assessment to be less than 90% of:

(i)
the assessable profits for the preceding year of assessment; or
(ii)
the estimated provisional profit (s. 63J(2)(a));

(b)
the amount of loss brought forward has not been set-off or is incorrect (s. 63J(2)(b));
(c)
the person assessed:

(i)
has ceased business; or
(ii)
will before the end of the year of assessment cease business; and
(iii)
the assessable profits are likely to be less than
(1)
the assessable profits for the preceding year of assessment; or
(2)
the estimated provisional profit (s. 63J(2)(c));

(d)
the person assessed has elected to be personally assessed for that year of assessment and that such election is likely to reduce his liability to tax (s. 63J(2)(d)); or

(e)
the person assessed has validly objected to his assessment to profits tax for the preceding year of assessment (s. 63J(2)(e)).
4.
Losses
4.1
General principle


(May 10)
4.1.1
A loss is computed in a similar manner and for a similar basis period as profit (s. 19D(1)).

4.1.2
No loss can be relieved more than once (s. 19C(6)(a), (b) and (c)).

4.1.3
Unlike profit cases, a loss is not subject to the six-year time limit of s. 60, i.e., the CIR may revise a loss after the lapse of six years (Yau L. M. Agnes v CIR HCIA 31/2004).

4.2
Exemption of bank interest income

4.2.1
It is the practice of the IRD that loss will not be set-off against bank interest income which is exempt from the payment of profits tax by virtue of the Chief Executive’s order in 1998. This is because the interest is treated as exempt income.

4.2.2
The result is that a greater amount of loss can be carried forward.

	Example 15

	$

$m
2015/16 Assessable profits from trading
10

Local bank deposit interest
3

Total assessable profits
10

Loss b/f from 2014/15 ($15m) set-off
(10)

Net assessable profits
Nil
Loss b/f from 2014/15
15
Less: Loss set-off

(10)

Loss c/f

5




4.3
Unincorporated business (Individual)
4.3.1
If an individual has sustained a business loss, that loss can only be carried forward to set-off against his/her assessable profits from the same business for subsequent year of assessments (s. 19C(1)).

	Example 16

	Mr A is the sole proprietor of A Co. A Co suffered a loss of $5,000 for the year of assessment 2014/15. The loss can be carried forward to the year of assessment 2015/16 to set-off the assessable profit of A Co for that year of assessment. If there is still any unrelieved loss, the excess can be carried forward to the year of assessment 2016/17 and so on.


4.3.2
If the individual wants to set-off the loss against his/her other income, he/she should elect joint personal assessment (s. 19C(3)).

4.3.3
If his/her total income under personal assessment is insufficient to offset the loss, the excess is carried forward to be set-off under personal assessment in future.
4.3.4
If personal assessment has been elected for a particular year of assessment, the loss for that year of assessment will not be carried forward under profits tax.
4.4
Partnership
4.4.1
An individual partner’s share of partnership losses shall be set-off against his/her share of future partnership profits from the same business (s. 19C(2)).
4.4.2
A corporate partner can set-off its share of partnership loss against its profits from other trade for the same year of assessment. Any excess loss not so applied would be carried forward to set-off firstly its share of profit from the partnership and then the assessable profits from other trade in subsequent years (s. 19C(5)).

4.4.3
However, the share of a partnership’s assessable profits cannot set off against a corporation’s share of loss in another partnership, or vice versa.
4.5
Limited partnership
4.5.1
The share of loss which a limited partner can use to set-off against his other income cannot exceed the amount of his contribution (i.e. capital + unwithdrawn profits/gains) to the partnership as of:
(a)
the end of the year of assessment in which the loss is sustained; or

(b)
the time of retirement of that partner if he retires during that year of assessment (s. 22B)

4.6
Trust
4.6.1
Any loss sustained in any trade, profession or business carried on for the benefit of a trust by a person in his capacity as trustee shall not be available for set off, except against the assessable profits of that trust from that trade, profession or business for subsequent years of assessment (s. 19C(6)(e)).

4.6.2
In other words, losses of one trust are not available for set off against the assessable profits of another trust administered by the same trustee, or against the assessable profits of the trustee himself in his personal capacity.
4.7
Corporations or bodies of persons


(May 10)
4.7.1
If a corporation carrying on a trade, profession or business is also a partner in a partnership, any loss incurred in respect of its own trading may be set off against its share of the partnership’s assessable profits for that year of assessment.
4.7.2
The balance of any loss not yet set off is carried forward to set off, 
(a)
firstly, against the future assessable profits of its own trade (if any), and

(b)
secondly, against its share of the partnership’s future assessable profits (s. 19C(4)).

4.7.3
This order of set off is only a practice and there is no requirement in the IRO that this order of set off should be followed. However, it should be noted that this loss set off is available even though the partnership did not exist at the time the corporation incurred the loss (D65/02).
	Question 6

NPWL and Best formed a partnership, N & B Partnership (“Partnership 1”). NPWL sustained a loss of $200,000 from Partnership 1 for the year of assessment 2015/16. Nick is also a partner in the partnership, Nick & Co. (“Partnership 2”). The loss Nick sustained from Partnership 2 for the year of assessment 2015/16 amounted to $150,000. Nick would like to set off the two losses against the assessable profits of NPWL.

Required:

Explain whether losses of Partnership 1 and 2 can be set off against the assessable profits of NPML.


	Solution:




5.
Unabsorbed Losses from Normal and Concessionary Trading Receipts
5.1
Cross set-off

5.1.1
Sections 19CA and 19CB (applicable as from the year of assessment 1998/99) provide for the cross set-off of unabsorbed losses from:

(a)
normal trading receipts (NTRs) (一般營業收入); and

(b)
concessionary trading receipts (CTRs) (獲特惠的營業收入).

5.1.2
CTRs are the trading receipts and other sums in respect of which assessable profits are chargeable to tax at the rate specified in:
(a)
s. 14A – qualifying debt instruments; or
(b)
s. 14B – qualifying reinsurance business of an insurance corporation.

5.1.3
NTRs are the trading receipts and other sums in respect of which assessable profits are chargeable to tax at the rate specified in Schedule 1 or 8.
5.1.4
For this purpose:

(a)
profit or loss derived from NTRs are referred to as “normal profits or loss”; and

(b)
profit or loss derived from CTRs are referred to as “ concessionary profits or loss.
5.2
Adjustment factor

5.2.1
As NTRs and CTRs are taxed at different tax rates, it is necessary to apply an adjustment factor to the profits or loss to be set-off.

5.2.2
The adjustment factor is the ratio, which the normal and concessionary tax rates bear to each other. Thus for the year of assessment 2015/16, the adjustment factor is 2, i.e.
(a)
16.5%/8.25% for corporations; and

(b)
15%/7.5% for persons other than corporations.

5.3
Same business and same year of assessment – s. 19CA

5.3.1
Section 19CA deals with the cross set-off of normal profits or loss and concessionary profits or loss within the same year of assessment for the same business.

5.3.2
Section 19CA(2) applies when a taxpayer has:

(a)
unabsorbed concessionary loss; and

(b)
normal profits.

5.3.3
Section 19CA(s) applies when a taxpayer has:

(a)
unabsorbed normal loss; and

(b)
concessionary profits.
5.3.4
The operation of s. 19CA under different scenarios is illustrated in the following examples.
	Example 17 – Normal profits > Concessionary loss: s. 19CA(2)(a)

	NTRs
CTRs
$

$
Profit / (loss)
10,000

(18,000)
Reduced by concessionary loss (i.e. $18,000 / 2)
(9,000)
18,000
Assessable profit
1,000
Unabsorbed loss
Nil



	Example 18 – Normal profits ≤ Concessionary loss: s. 19CA(2)(b)

	NTRs
CTRs
$

$
Profit / (loss)
10,000

(24,000)
Reduced by normal profits (i.e. $10,000 × 2)
(10,000)
20,000
Unabsorbed profit
Nil
Assessable loss
(4,000)



	Example 19 – Normal loss ≤ Concessionary profits: s. 19CA(3)(a)

	NTRs
CTRs
$

$
Profit / (loss)
(10,000)
24,000
Reduced by normal loss (i.e. $10,000 × 2)
10,000
(20,000)
Unabsorbed loss
Nil
Assessable profits
4,000



	Example 20 – Normal loss > Concessionary profits: s. 19CA(3)(b)

	NTRs
CTRs
$

$
Profit / (loss)
(10,000)
18,000
Reduced by concessionary profits (i.e. $18,000 ÷ 2)
9,000
(18,000)
Unabsorbed loss
(1,000)
Assessable profits
Nil



5.4
Different business and different years of assessment – s. 19CB
5.4.1
Section 19CB deals with:

(a)
the set-off of profits or loss between partnerships and corporations; and
(b)
loss brought forward from previous year of assessments.
5.4.2
Section 19CB(2) applies when a taxpayer has concessionary loss to be set-off against its normal profits.
5.4.3
Section 19CB(3) applies when a taxpayer has a normal loss to be set-off against its concessionary profits.

	Example 21 – Normal profits > Concessionary loss: s. 19CB(2)(a)

	NTRs
CTRs
$

$
Loss b/f

(10,000)
Assessable profits
8,000
Reduced by concessionary loss b/f (i.e. $10,000 ÷ 2)
(5,000)
10,000
Net assessable profits
3,000
Loss c/f
Nil


	Example 22 – Normal profits ≤ Concessionary loss: s. 19CB(2)(b)

	NTRs
CTRs
$

$
Loss b/f

(10,000)
Assessable profits
4,000
Set-off by normal profits (i.e. $4,000 × 2)
(4,000)
8,000
Net assessable profits
Nil
Loss c/f
(2,000)



	Example 23 – Normal loss ≤ Concessionary profit: s. 19CB(3)(a)

	NTRs
CTRs
$

$
Loss b/f

(10,000)
Assessable profits
24,000

Reduced by normal loss b/f (i.e. $10,000 × 2)
10,000
(20,000)
Loss c/f
Nil
Net assessable profits
4,000



	Example 24 – Normal loss > Concessionary profit: s. 19CB(3)(b)

	NTRs
CTRs
$

$
Loss b/f

(10,000)
Assessable profits
18,000
Set-off by concessionary profit (i.e. $18,000 ÷ 2)
9,000
(18,000)
Loss c/f
(1,000)
Net assessable profits
Nil



Additional Examination Style Questions
Question 7 (18 marks – approximately 32 minutes)

(a)
HKCO Ltd. (“HKCO”) commenced business and incurred losses of $20 million in the first accounting year ending 30 June 2011. Advise HKCO of the relevant tax implications.
(4 marks)

(b)
HKCO is a subsidiary of Kowloon Ltd. Kowloon Ltd. has a projected profit of $100 million for the year ending 30 June 2011.

(i)
Can Kowloon Ltd. utilise the losses in HKCO?

(ii)
Would your answer be the same if Kowloon Ltd. is a subsidiary of HKCO instead?


(4 marks)

(c)
What if HKCO is a partner in HK-Kowloon Partnership? The partnership has derived assessable profits of $60 million in the year ending 30 June 2011. HKCO has a 50% interest in the partnership.
(2 marks)

(d)
Comment on the agreed tax losses in HKCO for each of the following scenarios:

(i)
the management decided to close down HKCO in 2012 and leave it dormant;

(ii)
the management decided to liquidate HKCO;

(iii)
the shareholders decided to sell their investment in HKCO to Paris CO.


(8 marks)
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